19309

19301- 4

1930

S=1:500 Xn Yn (Xn+1 -] Xn-1) Yn
13 -87687.413 49224.385 -1531075.
R2 -87660.390 49252.763 -770840.0
R1 -87653.084 49261.644 391235.9
24 -87652. 448 49260.884 58177.10
25 -87651.903 49261.185 181084. 1
26 -87648. 772 49257.608 133734. 4
27 -87649. 188 49257.201 989429.3
28 -87628.685 49230.482 9794785.0
29 -87629.286 49230.062 - 420679.9
850.750534
425.3752670
425.37
Xn Yn (Xn+1 -| Xn-1)Yn
R2 -87660.390 49252.763 494793, 2
12 -87663.130 49256. 147 293221. 84
11 -87654. 437 49263.260 494898. 7
R1 -87653.084 49261. 644 -29B254.5
72.729p21
36.364/6105
36.36
19314-2
19301-1 19297-1
3, 4
13493-1
11
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